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Question Id : 6863406875 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



SHTOTE] & TYTd HRd 3! Sfaem Iy F 14 RiamaR, 1949 5. F 37 gogma ¥ e & YRa-da o1
RTGTHTST §H1 WIS R a1 T | g e & a8 &1 [l 26 SHast, 10508, 21| i Ue aat 3afd 9
HRd D1 ISTHINT H1 S0 Ugd B! dul 918 H3iboll & gRI T4 &1 161 U1 9ol [hards &9 4 U8
HTRTE G T U7 5 15 T8 &t 3afs) @ 3yl 25 5Ha9). 1965 5. 7% U9 AR & 9ol WERL
HIHGTS & [0 U BT YN Jadd eial T 26 SHax! 1965 315 9 Jd & o%1 & U YT H (S0
HRd H) Hioug T8 W 3W. foa! Tewrs © 3fama of wia- ot

Sub questions

Question Number : 1 Question Id : 6863406876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HfayT & ar e B A wn g -
1. 14 FamR 1949
2. 25 ARl 1950
3. 15 GFIERI 1950
4. 26 GFIARI 1950

Options :

68634027201. 1
68634027202. 2
68634027203. 3
68634027204. 4

Question Number : 2 Question Id : 6863406877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fe<t &1 TroTHTT @1 W o e fear T
1. 26 SHa%l 1950
. 14 FoamER1949
3. 26 GFIAR] 1965

| ]

4. 15 311947

Options :

68634027205. 1
68634027206. 2
68634027207. 3
68634027208. 4

Question Number : 3 Question Id : 6863406878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

\HGH T ] f[aaH F T g

1. 3R

2. AP
3, O]

4. 3T

Options :

68634027209. 1
68634027210. 2
68634027211. 3
68634027212. 4

Question Number : 4 Question Id : 6863406879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR 1 ST BT DY (gal ° Ugd b {191 3 gian ol -
1.3%
2. Hpd

4, diad

Options :

68634027213. 1
68634027214. 2
68634027215.3
68634027216. 4

Question Number : 5 Question Id : 6863406880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

{82l B ISTHIST BT Eol &4 & 915 HI 3iUSl Bl HHB & o fba- auf & forw smawgs TH= 47 -

1. 10



68634027217. 1
68634027218. 2
68634027219. 3
68634027220. 4

Question Id : 6863406875 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

SHTOTE] & TYTd HRd 3! Sfaem Iy F 14 RiamaR, 1949 5. F 37 gogma ¥ e & YRa-da o1
RTGTHTST §H1 WIS R a1 T | g e & a8 &1 [l 26 SHast, 10508, 21| i Ue aat 3afd 9
HRd D1 ISTHINT H1 S0 Ugd B! dul 918 H3iboll & gRI T4 &1 161 U1 9ol [hards &9 4 U8
HTRTE G T U7 5 15 T8 &t 3afs) @ 3yl 25 5Ha9). 1965 5. 7% U9 AR & 9ol WERL
HIHGTS & [0 U BT YN Jadd eial T 26 SHax! 1965 315 9 Jd & o%1 & U YT H (S0
HRd H) Hioug T8 W 3W. foa! Tewrs © 3fama of wia- ot

Sub questions

Question Number : 1 Question Id : 6863406876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S ¥ o e A R F e

1.
. 25 SFaRl 1950
.15 SFERT 1950

o

4.

14 Fama 1940

26 SHaRt 1950

Options :

68634027201. 1
68634027202. 2
68634027203. 3
68634027204. 4

Question Number : 2 Question Id : 6863406877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fedl ! ITsTuTST &1 R 4 féa
1. 26 WG] 1950

.14 ¥yara1949

3. 26 SIadl 1965

[ )

4. 15 HITd1947
Options :
68634027205. 1
68634027206. 2

68634027207. 3
68634027208. 4

Question Number : 3 Question Id : 6863406878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HTaLTE T 1 faad o1 §

1. 3

2. HAId D
3. ]

4. Gaﬁa
Options :
68634027209. 1
68634027210. 2

68634027211. 3
68634027212. 4

Question Number : 4 Question Id : 6863406879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
IR Bl XSTHTST T 14 feel & gt fopdy 47 & g ot
1.9%
2. HEpd
3. 3T
4. dffra

Options :



68634027213. 1
68634027214. 2
68634027215. 3
68634027216. 4

Question Number : 5 Question Id : 6863406880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

&<l &1 TSTHST &1 g5l e o 15 HI SRSl &t SHe & fore fia aul & fou sravgs gagn

1. 10

|
ok
-J

4. 15

Options :

68634027217. 1
68634027218. 2
68634027219. 3
68634027220. 4

Sub-Section Number : 2
Sub-Section Id : 686340212
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863406881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3T a1 GaTH BT a8 =Y ford I = a/ag & 30 Isc) & 1Y J1d &l 98 Pel ondl g :

4. fepan

Options :

68634027221. 1
68634027222. 2
68634027223. 3
68634027224. 4

Question Number : 6 Question Id : 6863406881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST ST F4ATH BT I8 =0 forae! AieT T= 919 & 30 Ysal & 91U J1d ©1. 9 Pel aal ¢

1. FRP

-]

2. 3y
3, faQimor
4. fepan

Options :

68634027221. 1
68634027222. 2
68634027223. 3
68634027224. 4

Question Number : 7 Question Id : 6863406882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BIH-PH G e W B TR0 B -
A R™

B. UId:&Td
C. TR
D. HE%

E. Y

1.$addA.D.E
2.$ddB.C.D
3. PAUA. C.E
4.PAUC.D. A

Options :

68634027225. 1
68634027226. 2
68634027227. 3
68634027228. 4

Question Number : 7 Question Id : 6863406882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



BHE-DH T Teg, TiE & ISR © -
AT

B. UId:&Td
C. TR
D. HE%

E. Y

1.$addA.D.E
2.$ddB.C.D
3. PAUA. C.E
4.PAUC.D. A

Options :

68634027225. 1
68634027226. 2
68634027227. 3
68634027228. 4

Question Number : 8 Question Id : 6863406883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 gH 11 ¥ i Sl
T 1 (TR T 11 (312
A BRI 1 [ d Hds g
B. [Uti W= 1L [q¥ &A1
C. |ordi omE IR T 1L [Fea
D. [FRal &1 9 &l IV, [35d &1 9 o T

FFrefafed ol O O 9gl 3R &1 994 S -

1. A-TII. B-IV. C-III. D-I
2.A-0T. B-IV, C-1. D-IIT
3. A-L. B-I1 ., C-IIL, D-IV
4, A-IV. B-ITI. C-11 . D-I

Options :

68634027229. 1

68634027230. 2

68634027231. 3
68634027232. 4



Question Number : 8 Question Id : 6863406883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 g4l 11 9 e i
1 (R Tl 11 (31
A AR AT L [3ma ¥ siidie 50y
B [ael WA 11 [qF B
C. |3l e SR W L [eed
D. [Fdl &1 HIl IV. |3(d &1 ¥ ¥ 9

FFrafciad fasedl § O 98l 3O &1 944 DIl -

1. A-IL. BV, C-IIL D-I
2. A-IL, B-IV, C-I, D-IIT
3. AL, B-II, C-TIL, D-IV
4. A-IV, B-IIL C-II ., D-I

Options :

68634027229. 1

68634027230. 2

68634027231. 3
68634027232. 4

Question Number : 9 Question Id : 6863406884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S0 Y BHE-HH G Ust JBHS AT g

A.GleT
B. 6UAl
C.3H
D. 3T

E. HIg

-1 30 72 fadeul 3 9 96l SR &1 90 DI -
1. $dedC,A. D

. PAUE, C, A

3. %ddB. C. A

4. PddA. B.D

2

Options :
68634027233. 1



68634027234. 2
68634027235. 3
68634027236. 4

Question Number : 9 Question Id : 6863406884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST Y HH-BIF O Uss HHS har g

A TreA
B. 8-l
C.3H
D. 3ET

E. HlgH
-1 40 72 fadpeul 3 9§ 96l SR &1 S DI -
1. $da C,A. D
2. BAdE, C. A
3. BddB.C. A
4. PdIA. B.D

Options :

68634027233. 1
68634027234. 2
68634027235. 3
68634027236. 4

Question Number : 10 Question Id : 6863406885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=l 11 4l 11 9 [ iy

T @EPR) AT 11 (TE)

A fyifoa= 1 [Gre%n @ ®RUI U 9% I gudd g% 5H ol

B. [g8% 11 [ede gl &l g |

C. |erama 1L [T et H U o HIE oY 93 &l

D. [gy 1V, [Bsg] @1 3Tgic U g 314d aR T4l 38 31U T3 8l
afafad fasedl o O Gl SR &1 954 Bl -

1. A-IV. B-III. C-II.D-I
2. AL B-IV, C-III D-1
3. A-L. B-IV, C-II. D-IIT
4. A-I. B-II, C-II1, C-IV

Options :

68634027237. 1
68634027238. 2
68634027239. 3
68634027240. 4

Question Number : 10 Question Id : 6863406885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 gH 11 ¥ e Sl

G 1 (PR & 1 (Te9M)

A pitaa= 1 [Ureed & SR TS g5 DI gkl 9% O o |

B [g8® 11 [ede gurl &1 A |

C. |sramm I11. [0 2 H U 4 HI&P 31 o3 &l |

D [zem 1V, [Brs5] @1 3Tgid U T AT4S aR 7] 38 Y A3 8l
frafeiad faseedl o 8 98l SR &1 994 BT

1. A-IV. B-III. C-I1.D-I
2. A-IL B-IV. C-III D-1
3. A-L B-IV. C-I1. D-IIT
4. A-I. B-II. C-IILL C-IV

Options :

68634027237. 1

68634027238. 2

68634027239. 3
68634027240. 4



Question Number : 11 Question Id : 6863406886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&0 70 GHFUT 14:10=X: 15 EX FTHA AT -

1.20

| B

|
3.19
4. 18
Options :
68634027241. 1
68634027242. 2

68634027243. 3
68634027244. 4

Question Number : 11 Question Id : 6863406886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[4U T GHFUE 14:10=X:15 EX BITIF FT G -

1. 20

| B

21
3.15
4.18

Options :

68634027241. 1
68634027242. 2
68634027243. 3
68634027244. 4

Question Number : 12 Question Id : 6863406887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A 3R B B Tl 7 3:4 1 3UG 1 A I 6] = R Yoo 1 B ¥ 20 HHe 3@ @ 31 A fFaq
o ¥ Tiqed ®F R Ugad g

—

.233"8
3

1o
Tro
&

Options :

68634027245. 1
68634027246. 2
68634027247. 3
68634027248. 4

Question Number : 12 Question Id : 6863406887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 3R B I Il T 3:4 &1 3UId 5 | A I Tided H W Uga 4 B ¥ 20 BHe 31¥% @ o | A fdhad
T ¥ 7o ®IF R U g

1.2%‘3'8
3

Options :

68634027245. 1
68634027246. 2
68634027247. 3
68634027248. 4

Question Number : 13 Question Id : 6863406888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



W%T@TH? 59 QIS aX § 2 T4 H TR &76] 3R FehalG saTal 1 225 &1 SiaR 3 | o= &1 778 i
Gl

1. 26.000

| B

. 38.400
3,210,000
4.712.000

Options :

68634027249. 1
68634027250. 2
68634027251. 3
68634027252. 4

Question Number : 13 Question Id : 6863406888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W%T@Tu? 5% IS aX § 2 g9 H YR 79 3R Fehals sarsl H 225 1 SiaR 3 | How &1 718 1Y
Gy

1. 206.000

| B

38,400
3.%10.000
4.3712.000

Options :

68634027249. 1
68634027250. 2
68634027251. 3
68634027252. 4

Question Number : 14 Question Id : 6863406889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U ooil- [aohal - 218/kg B & T 100 kg THICX @IS 3R 2120 HTS TR T4 (BT 3 80 kg
CHIER 225/kg 1 & I & TUT 16 kg THICY 220/kg P &3 H 99| AN THICI TRIE B4 & DRUT & 78] ol
b | SYDI oY UfdLd 3T SIU | (SRHETd & U ¥ db 9gh)

1. 15.7%
2.17.5%
3. 20.8%
4.21.6%

Options :

68634027253. 1
68634027254. 2
68634027255.3
68634027256. 4

Question Number : 14 Question Id : 6863406889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U e0il- [ahal - 218/kg B S T 100 kg THEX @IS 3R 2120 HTS TR T (BT I 80 ke
THIET 325/ kgﬁaﬁféﬁmﬂmmwm ke I TX I s | WY THICI WG B4 & HRU &< gl o
T | 3P 1Y WA T BT (SYHTd & U H a9 )

1. F5.7%
2. 17.5%
3. 20.8%
4.21.6%

Options :

68634027253. 1
68634027254. 2
68634027255. 3
68634027256. 4

Question Number : 15 Question Id : 6863406890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U fESP! ST HBR &1 § THS FIR [P HUgT @' ¢ | Ui Ra5H! 31 uRAT 4.6 m B T 50D
HTATHR HIT BT T 0.5m 81 o1 AfgdIbR YT Bt e 31 W|£Tuke:r= E?J

del

1. 0.6m

2

. 0.8m
3. 1.4m

4, 0.7m

Options :

68634027257. 1
68634027258. 2
68634027259. 3
68634027260. 4

Question Number : 15 Question Id : 6863406890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

% ISP U PR &l & D mqewﬂﬁﬁwﬁiﬁ@ﬁmwﬁﬂmm m © dUT 59%
HTATHR T B ST 0.5m BT A1 ISR LI Bt o I1a W|£Tuke:r= 2?2]

del

1. 0.6m

b2

.0.8m
3.1.4m

4. 0.7m

Options :
68634027257. 1



68634027258. 2
68634027259. 3
68634027260. 4

Question Number : 16 Question Id : 6863406891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

<9 7Y T TP U 3R 51 IR S g1
A fp9 TR B 9 Wdfa 82
LCHI IHBEIB IRD.EF S 5| C T UHHHE T4 G T E I UH/AEH AT
LGP O HTIUEH I BHI THHEIEARLPI UG AFA B E ST UHUE AT
1. I Uy BT IR &1 & fAQ: 38 By 11 (347 s st sidval 81 v €|
2. afe Uy @1 3R 3 & fore: uft u= 1 e sfiss srbar ol aid g
3. 9% WY D1 IR &1 o o1 IS by 13 faan g1 oy 11 ¥ 1331 717 s SHebell 81 udi B |
4. TR UY BTTR 37 & AT AU ML 24ips Sl ol 1 3 g T Iy 9 T8l €1
Options :
68634027261. 1
68634027262. 2

68634027263. 3
68634027264. 4

Question Number : 16 Question Id : 6863406891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o9 7Y T TP UY 3R 51 SR S g1

A Top9 TR B 9 HdfUa 82

LCHIUdIBEIB IRD.Ed &=l ¢! C DI UHYH GAI G §| E DI UB/UE AT

LGH I HTIUEHNSIBHI YN HEIEARLBI TG AFA A B S| ESTUFUA AT
1. 4f¢ WY &1 IR & o (o0 afe du 14 (341 siigsy sl o1 Ui & |
2. 3% UY D1 IR 1 & 1. TS By 11 H 1347 sficvsT siebenl 51 Ui 5|
3. 3 WY BT TR &7 & g afe Sy 18 fagr gr oy n 1 301 717 3iie s siehen & 9aia 2|
4. 913 99 &1 IR &4 & [A0: 30 U sfidps el HyAl § ofifs UH 91y 997w gl ¢

Options :
68634027261. 1



68634027262 2
68634027263. 3
68634027264. 4

Question Number : 17 Question Id : 6863406892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& 7S oRge H ST g 1 SBifere

| s

k2

[

8.1

Ln

28,

Ly

1. 90

[ B}

.91

.03

[F¥]

4.94

Options :

68634027265. 1
68634027266. 2
68634027267. 3
68634027268. 4

Question Number : 17 Question Id : 6863406892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& TS oRge H 3Ta ug §1d B -

1?2

k2

L

8.1

L

28,

n

1. 90

2:01

.93

L¥¥]

4.94

Options :

68634027265. 1
68634027266. 2
68634027267. 3
68634027268. 4

Question Number : 18 Question Id : 6863406893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Ue e gd fa=n 1 3iR 08 33 @S ¢, 8 Us! 3 fax & 45° W gSal ¢ 1 98 SN us! &l faxn g
%D?HG;T% R o uSl & armrad (Faudia) faxn &1 eiR270° gsai g1 3@ a8 foy i &t iR 4
T3l gl

1. JTR-ufam

 FW-gd
. af&ur-gfam
. &lgmigd

Options :

68634027269. 1
68634027270. 2
68634027271. 3
68634027272. 4

b

L¥]

e

Question Number : 18 Question Id : 6863406893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U e gd (=1 @1 SR Ug b WSl . 98 Uo! 3l (G H 45° W ESdl ¢ | 98 alaRI Us! i [qen
%ﬁﬂﬁgﬂ% IR fipr St 31 amrad (i) femn &1 siRz70° gaar €1 o o8 for fezn &t iR dg
wal gl

1. ITR-OfEm

2. 3TR-yd
. Sf&oraigg
. glgmgd

Options :

68634027269. 1
68634027270. 2
68634027271.3
68634027272. 4

-]

(%]

fea

Question Number : 19 Question Id : 6863406894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I 1 py, QU 70 S &1 guiaar grer &l 7

B : P.C.M IR & R Ug & fou Faid gt 4 of 9aeik te geuiiad 3uiigar g
=Py 1. o GaeR, P.C.M $RH & Hoxe & g% W 97 oy e |
11 41 FadR P.c.M SRIF & % & Ug UR g1 I S0 |
1. ad FpY 1 SR Sl g
2. ad (5HY 1T STER0 Bl g |
3. @0 W s Fspy 1 9711 SFRU Sl 6 |
4, BI5 i P 1 O1 11 38R0 98] @Xdl © |

Options :

68634027273. 1
68634027274. 2
68634027275. 3
68634027276. 4

Question Number : 19 Question Id : 6863406894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I I (epy, QU U S o1 guiaar urer Bl o7

HYF : P.C.M IRIF & Howa ug & e 9gia 3=t 3 4 90k U gedTiad SHEar g
=Py 1. ff GaeR. e M HRH & Hawe & ug W 7 fo ||
1L 91 FdaR P.C.M SR & (e & Ug 0 78] g S|
1. Pad [Py 1 SFHR0 Bl 6|
2. Fad [FEY 11 3THR0 HRaAl 3 |
3. I Ul U (v 1 U7 11 SERU Rl B |
4. g 1 Fsepy 1 97 11 SER0 781 B € |

Options :

68634027273. 1
68634027274. 2
68634027275. 3
68634027276. 4



Question Number : 20 Question Id : 6863406895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

(1).(2).3) $IR () T 4l 715 STRAPIaTl § 9 B Ul IR HIpid, did 1 g1 775 Spid 2 & gfd Hdl g

Y ST IR AP

% . *
)\. = b = » X x X X
* A, 2 w oMo M
A
w w x X X b ® o® X ® oM
o ?
: (1) (2) (3) (4)
1.1
2.2
3.3
4.4
Options :

68634027277. 1
68634027278. 2
68634027279. 3
68634027280. 4

Question Number : 20 Question Id : 6863406895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1).(2).(3) 3R (4) B &1 775 ITRAF0T H B W IR AP, Aid 7 &1 75 SPid 2 B g Bl g

Uy ST TR SHTPHA

i S S P S
= b, 2 % HoOoK X
X WX
5 " *® x * * ¥ X X ® OH X
A 7
: (1) (2) (3) (4)
1.1
2.2
3.3
4.4
Options :

68634027277. 1
68634027278. 2
68634027279. 3
68634027280. 4

Question Number : 21 Question Id : 6863406896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y T EXgHM e Ui FHEdR |

1. BT
2. ATH Hed
3. gadg Hed
4. UBI Had

Options :

68634027281. 1

68634027282. 2

68634027283. 3
68634027284. 4

Question Number : 21 Question Id : 6863406896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Worrmaradarym . FeanR|
1. BT
2. 309 Had
3. gHdY Had
4. U HSd

Options :

68634027281. 1
68634027282. 2
68634027283. 3
68634027284. 4

Question Number : 22 Question Id : 6863406897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g= 11 ¥ e S

T 1 U T 11 I
eree i 3eE | 1L R
Ry gar | U [pales
ARl AP 3| 1L SRS
[ardig 3tg gam| v [Fe uew

FFrefaiad ol 4 O 98l 3R &1 994 S -

1. A-IIL. B-1. C-II. D-IV

olo|w|=

| B

AL B-1L C-IV. DA-II
3. A-III, B-IV, B-1. D-11
4. A-IV. B-11. C-1. D-IV

Options :

68634027285. 1
68634027286. 2
68634027287. 3
68634027288. 4

Question Number : 22 Question Id : 6863406897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=l 11 4l 11 9 [0aH S

T 1T U T 11 I
|prde v saH | 1 R
TRIPE3IgE | 1L [@ies
EEEREEEEEE B SRGEE

. [ETEgR Tt 3aE| v [FeE e

Fafaiad [deedi § O gl 3O &1 994 DIl -

1. A-IIL B-1. C-II. D-IV

o|o|w|=

| B

AL B-1L C-IV. D-II
3. A-IIT, B-IV. B-1. D-11
4. A-IV. B-1I. C-1. D-IV

Options :

68634027285. 1
68634027286. 2
68634027287. 3
68634027288. 4

Question Number : 23 Question Id : 6863406898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ SI=9g & Siiid SHg i Hidy H He" S Widd UaH $17Tg
1. 359G 226

[ ]
[ o]
=1
I

L¥¥]

. 3T=94 368
398 102

Options :

68634027289. 1
68634027290. 2
68634027291. 3
68634027292. 4

e

Question Number : 23 Question Id : 6863406898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ey oreye & ofwla Tue &I dfaer & deiy= ot uffa e St s 22
1. 355G 226
3T 274
3. 354 368
4. TG 102
Options :
68634027289. 1
68634027290. 2

68634027291. 3
68634027292. 4

[ ]

Question Number : 24 Question Id : 6863406899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EICRACIC R EURI A
ST 1 ; YT & aTTHH § THT S TR HTd BT IRy 9 S ¢ |

FUA L : HUTD! & AIHEH T gl B I & PRUI 3951 ekl S 8l Sl g
1. FYA1 IR 1 S T
2. YA [ 3R 11 ST TTed ©
3. Y 1 TE! §. Widp YA 11 7Ted &
4. BYA 1T 8. Wip SYT 11 98l &

Options :

68634027293. 1
68634027294. 2
68634027295. 3
68634027296. 4

Question Number : 24 Question Id : 6863406899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ﬁ%aﬁwﬁqw?{
HY1 ; YT P AT9HH § BT AT UR YT DT HARIY G Sl g |

FYAII : HEATAD] b dTYHH H i Bl o & BRUT 31 HicRIe &1 & Sl ¢ |
1. S 1 SR 11 & et e

Y 1 R 11 ST T §

3. YA HEI &, Wi BYF 11 7T &

4. BYA 17109d ©. i B 1 el &

b2

Options :

68634027293. 1
68634027294. 2
68634027295. 3
68634027296. 4

Question Number : 25 Question Id : 6863406900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BIH-H1 551 RIS A0 H Ry g2
1. ﬂll_* Eﬂ?
3. PIAET
4. TGRS

[ ]

Options :

68634027297. 1
68634027298. 2
68634027299. 3
68634027300. 4

Question Number : 25 Question Id : 6863406900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



®H-T1 550 = s & fRE g2
1. UTITERT

. HTORRYR

3. BICHEIT

4. TSt

[ ]

Options :

68634027297. 1
68634027298. 2
68634027299. 3
68634027300. 4

Part B: History

Section Id : 686340138
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340213
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 6863406901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 1T

LIST1 LISTII
Vedic text I 300 BC -ADa00
Sangam literature II. Be BC

ofofw[=

Prakrit as the Lingua Franca] IIL |1500-500 BC
Sanskrit as state language | IV. |JAD 4 ¢ onwards

Choose the correct answer from the options given below:
1. A-IIL. B-II. C-IV. D-I
2. A-IV. B-II, C-III, D-I
3. AL B-L. C-I1. D-IV
4. A-III, B-IV. C-I, D-11

Options :

68634027301. 1
68634027302. 2
68634027303. 3
68634027304. 4

Question Number : 26 Question Id : 6863406901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 191 Y& 1 3 TaE i

T 1 T 1
|gfes o=y 1 [30031 - 600 351,
1L oogq
 [aicrEa &1y o 9 | uidd| 101 [1500-500 5.0,
e YW S w0 E Oeed | IV, [@1 2Tl g5 4 J 3

== feg 0 Gl § § I8l SR &1 9 Sifoig -

1. A-III B-II C-IV D-1

ﬂ_%-.l"
:

2. A-IV B-II C-I11 D-1
3. A-III B-1I C-I1 D-IV
4. A-III B-IV C-I D-II

Options :

68634027301. 1
68634027302. 2
68634027303. 3
68634027304. 4



Question Number : 27 Question Id : 6863406902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List TT

LISTI LISTII
A Planu Smrin I |1789
B. |Abhijnana Shakuntalam| II. |1783
C. |Bhagvadgita L. |11776
D. |Early Historv of India | IV. |1904

Choose the correct answer from the options given below:

1. A-IIL. B-1. C-IV. D-IT

[

. A-IIL B-I, C-IL. D-IV
3. A-IV. B-IIL. C-I. D-II
4. A-II. B-II1. C-IV. D-1

Options :

68634027305. 1
68634027306. 2
68634027307. 3
68634027308. 4

Question Number : 27 Question Id : 6863406902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 1 51 & 1 3 faH Sife

T T T I
RRLGIG] 1 |1789
HIUFHddTE [ 1L [1785
GHEESIGI 11 1776
el TRl oMt S| v fieo4

frafafaa e § 3 A8t S™R &1 997 Sifvu .

Ol =] »

1.

| B

4.

A-III B-I C-IV D-II

. A-III B-I C-II D-IV

CA-IV B-IIL C-I D-IT

ATl B-III C-IV D-1

Options :

68634027305. 1
68634027306. 2
68634027307. 3



68634027308. 4

Question Number : 28 Question Id : 6863406903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are correct.

A. R.G Bhandarkar reconstructed the political history of Satavahanas.

B. V.K Rajwade published twenty-two volumes of sanskrit manuscripts and sources of Maratha history.
C. D.R Bhandarkar was a sanskritist.

D. R.C Majumdar was general editor of 'History and Culture of the Indian People'.

Choose the most appropriate answer from the options given below:
1. A. B and D only
2. A.B and C only
3.B. C and D only

4. A, Cand D only

Options :

68634027309. 1
68634027310. 2
68634027311. 3
68634027312. 4

Question Number : 28 Question Id : 6863406903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FEfEdd I s oy 9gl &

A, 3R, ST, HISR@R = WIqarel & o @ 506 &1 GrRa= &1 |

B. dl. &. JoIals - S¥hd Uigfaiiudl & 22 WUs quT TRIST Siderd & did Ui fed|
C. Sl 3R, USRI U Hihdx Ul

D. 3R, Ul HoHaR B! UUs SR 3P g Sfsu- tiue & UHE JuEs Y|

2 fed T fadel § ¥ 9g) IR &1 99 31 |

1. Fad A. B AU D

-2

. HAd A BAYUIC
3. HIAB. CAUTD

4. HAAA, CAUID

Options :
68634027309. 1
68634027310. 2



68634027311. 3
68634027312. 4

Question Number : 29 Question Id : 6863406904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Identify the correct statements:
A. Megasthenes wrote Indika.
B. The Periplus of the Erythrean Sea is written in Sanskrit.

C. Naturalis Historia was written in Greek.
D. Geography 1s written in Greek,

Choose the most appropriate answer from the options given below:

1. A and B only

| B

.B and C only
3. Aand D only
4. C and D only

Options :

68634027313. 1
68634027314. 2
68634027315.3
68634027316. 4

Question Number : 29 Question Id : 6863406904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el DY DI T :

A BT 3 Sfger o oA fean
B. g U@ 311 & Wi dh d5pd yro H fordi 718 5|
c. guferd fgweifar die v  fordl 18 |
D. TRR®T ids U1 ferd g |

-9 fad U [geedl ¥ waiiue SUgad S &1 907 S|
1. Had ATYUTB
2. BAd B AYUIC

3. PAITATYUID

4. HFACTYUID

Options :
68634027313. 1



68634027314. 2
68634027315. 3
68634027316. 4

Question Number : 30 Question Id : 6863406905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The monsoon has played an important role in India's history.

Statement IT: The discovery of the monsoon enabled India to carry on trade and establish cultural contacts
with western Asia and Mediterranean area.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement IT are correct.

| §)

. Both Statement I and Statement IT are incorrect.

. Statement I is correct but Statement IT is incorrect.

%]

4. Statement I is incorrect but Statement IT is correct,
Options :
68634027317. 1
68634027318. 2

68634027319. 3
68634027320. 4

Question Number : 30 Question Id : 6863406905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

B IEICUE 2 BRI S
HYF I ; AR A YR Sie™ # Heayu! 4! 3@ @i 8|

SYF I : T &1 G 7 YR B ATUR D a1 gigHl Uik ud Yo &4l & 919 gikpfds gy
g a3 4 99 e

SIRIa B & YTl & A9 ST T [aeed] & § 9ad SUgad SuR &1 997 il |

1. PUT I dYT HYT 11 Sl Fel gl

[ )

BYT 1 JYTHYT I EF Td

Y 1 Hol § TR Py 11 7Tad &

LF¥]

Y 1716 © TR HY 11 981 ¢

=y

Options :

68634027317. 1
68634027318. 2
68634027319. 3



68634027320. 4

Question Number : 31 Question Id : 6863406906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Chaitanya popularised musical gatherings or kirtan as a special form of mystic experience.
Statement II: Chaitanya travelled to Gaya to revive the Krishna cult.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement Il are correct.

| )

. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but Statement IT 1s incorrect.

4. Statement I is incorrect but Statement IT is correct.
Options :
68634027321. 1
68634027322. 2

68634027323. 3
68634027324. 4

Question Number : 31 Question Id : 6863406906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

< g B AU e &

HYF 1 : ITTHALT HFHT & U (a9 WHR & 39 J Fa-d = Il FanTE! a1 Sl &1 9 )
YT I : PUGY F GHoil1dd DI $ 010 I = T D1 G B |

SURIad ] o Ypre & A [GU MU fadedl ¥ 4 9a |aiiie Sugad ST &l 904 I |

1. PYT I YT PYT I S Tel B

[ )

HYF T PYA IS Tad

BYT 1 Gl ¢ U] PYA [ 7Tad © |

[F¥]

e

YT 1T § U= PY 1T HEl B

Options :

68634027321. 1
68634027322. 2
68634027323. 3
68634027324. 4

Question Number : 32 Question Id : 6863406907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List T with List TT

LISTI LISTII
A [Banabhatta I |Vikramankadevacharita)
B. |Sandhyakara | II. [Rajatarangini
C. |Bilhana [II. |Harshacharita
D. [Kalhan IV, [Ramacharita

Choose the correct answer from the options given below:

1. A-IIL. B-IV. C-II. D-I

[

CA-TV. B-IILL C-1, D-II
3. A-IL B-I. C-IIL, D-IV
4. A-IIT, B-IV. C-I, D-11

Options :

68634027325. 1
68634027326. 2
68634027327. 3
68634027328. 4

Question Number : 32 Question Id : 6863406907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 gt 1 ¥ TaE S
T 1 T 10
A G101 HE I [[asHideddRd
B. [Humem I [raasim
C. [ 111 [geaid
D. [ V. R

e 32 TR fgepedl o 9 Wet ST &l 99 S -

1. A-III B-IV C-II D-1

| B

CA-IV B-III C-I D-II
3. A-II B-I C-IT1 D-IV
4. A-III B-IV C-I D-II

Options :

68634027325. 1
68634027326. 2
68634027327. 3
68634027328. 4



Question Number : 33 Question Id : 6863406908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 18 labelled as Assertion (A) and the other is labelled as Reason (R):
Assertion (A): Homo habilis means a handy or skillful man.

Reason (R):This was known so as he had hands,

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A.
2. Both A and R are true but R 18 NOT the correct explanation of A.
3. A is true but R 1s false.
4. A 1s false but R 1s true.
Options :
68634027329. 1
68634027330. 2

68634027331.3
68634027332. 4

Question Number : 33 Question Id : 6863406908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sl By e Tﬂ:{%’ Ud Sfiepy= (Assertion - A) FEudfafaaga@ WWW (Reason- R)
CIRRE

iy (a) : ST Bfafer @1 ol § v e o o e

PR (R) : TH ST S ST € Hifer 39F T8y U1

SIRId P! & UHTR 5. 13U 0 fowed] & ¥ et SR &1 954 i |
A SRR T 98 € SRR, A P T A= 8

A SRR EH Ol &, dlFTR. A ! T I 76l ¢ |

A T8I Al R TR 81 81

. AYE! 81 € AP R W1 B

Options :

68634027329. 1
68634027330. 2
68634027331.3
68634027332. 4

—

[

Lad

=y

Question Number : 34 Question Id : 6863406909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 15 labelled as Assertion (A) and the other is labelled as Reason (R) :
Assertion (A): The Upper Paleolithic Age came to an end with the end of ice age.

Reason (R): It was due to global warming.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R 1s the correct explanation of A.
2. Both A and R are true but R 18 NOT the correct explanation of A.
3. A is true but R s false.

4. A 1s false but R 1s true.

Options :

68634027333. 1
68634027334. 2
68634027335.3
68634027336. 4

Question Number : 34 Question Id : 6863406909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

=g gl P ﬁ‘[{ Rl IE) %’ Ud HiHUA (Assertion -A) & Eg ﬁ%‘@ﬁ% al g i RESCAGAR (Reason- R) E
IO

STUBYT (A) : [GHT & GO g1 o F1Y F=F UISI0] 91 §H1S of 747
BRI (R) : U TGS aiftiT & SR g3

SR ! & UHTE 4. 13U U fowed! & ¥ gt SR &1 994 i |
AR RS 6§ SRR AT Tl T 8|

A SR R T 981 €, AT R. A BT TE R TE o

. A9gI § Al R W8I 18] 8

. A e 81 € AP R WEI B

Options :

68634027333. 1
68634027334. 2
68634027335. 3
68634027336. 4
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e

Question Number : 35 Question Id : 6863406910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following was an early capital of Harshavardhana?

1. Thaneshwar

[ ]

. Kannauyj
3. Prayag
4. Mathura
Options :
68634027337. 1
68634027338. 2

68634027339. 3
68634027340. 4

Question Number : 35 Question Id : 6863406910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ferfafad 8 4 o guad o urfEe ey df 2
1. YT4R
2.

3. W4T

4. TYRT
Options :

68634027337. 1
68634027338. 2

68634027339. 3
68634027340. 4

Question Number : 36 Question Id : 6863406911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1
Which inseription highlights that the Nandas exercised power over Kalinga?
1. Aihole Inscription
2. Ajanta Inscription
3. Mathura Inscription

4. Hathigumpha Inscription

Options :
68634027341. 1



68634027342. 2
68634027343.3
68634027344. 4

Question Number : 36 Question Id : 6863406911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BI 1 SHeRE T8 IR UL STl € [ -8 e SIfei W HUeR W@d 42
RS GRS IR R
2. 3foiar fireE
3. TR il
4. BT 7T HfiRTE

ok

)

Options :

68634027341. 1
68634027342. 2
68634027343.3
68634027344. 4

Question Number : 37 Question Id : 6863406912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Which of the following was a 'complex’ hunting Society?
1. Mesolithic Age
2. Paleolithic Age
3. Neolithic Age

4. Chalcolithic Age

Options :

68634027345. 1
68634027346. 2
68634027347. 3
68634027348. 4

Question Number : 37 Question Id : 6863406912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Seafatag 5 9 ®F 91 U6 Sice ReR! 9a5eT U 2
 EYTSTO]

 GEUTITT T

. STaTNTo g

ok

[
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4. TTHUTSION g7

Options :

68634027345. 1
68634027346. 2
68634027347.3
68634027348. 4

Question Number : 38 Question Id : 6863406913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The transition from neolithic age to bronze age civilization first took place in :
1. Mesopotamia

-

2. Egypt
3. Greece
4, Rome

Options :

68634027349. 1
68634027350. 2
68634027351. 3
68634027352. 4

Question Number : 38 Question Id : 6863406913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
AT QAT H B I Fer H HhHu ad Ugd T g3
1. TIgreTEET
2. g sl
3. g ()
4,39

Options :
68634027349. 1



68634027350. 2
68634027351. 3
68634027352. 4

Question Number : 39 Question Id : 6863406914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Kutumbin was equivalent to:
1. Sabha
2. Vaisya
3. Gahapati
4. Arya

Options :

68634027353. 1
68634027354. 2
68634027355. 3
68634027356. 4

Question Number : 39 Question Id : 6863406914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Peitar THS THDE UT:
1T
2. 9
3. T8
4. 31

Options :

68634027353. 1
68634027354. 2
68634027355. 3
68634027356. 4

Question Number : 40 Question Id : 6863406915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Buddhist text indicates that lands were being granted to brahman doniess by king. What were these lands
called ?

1. Sazan

[ ]

. Brahmadeya

. Gama

Lad

4. Vanipathas

Options :

68634027357. 1
68634027358. 2
68634027359. 3
68634027360. 4

Question Number : 40 Question Id : 6863406915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TG T SHTd B § 19 o1 g1 S0l &1 Y-SiaH 160 od & | 59 Yl &1 91 SgT oirar o1 2
1. 9
. Sgied

3. TET
4. oy

Options :

68634027357. 1
68634027358. 2
68634027359. 3
68634027360. 4

[

Question Number : 41 Question Id : 6863406916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The most influential doctrine of 6% century B.C. was :
1. Ajivikas
2. Niyati
3. Sarmana
4. Sangha

Options :



68634027361. 1
68634027362. 2
68634027363. 3
68634027364. 4

Question Number : 41 Question Id : 6863406916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
6dl RIdTsEl SHTYd &1 Tad HUIGRITe Riid o -
1. ATSlgP
2. Fafd
3. FH

4. 99

Options :

68634027361. 1
68634027362. 2
68634027363. 3
68634027364. 4

Question Number : 42 Question Id : 6863406917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The earliest source dealing exclusively with astronomy is :

1. Nakshatras

| S]

. Kevaddha Sutta

3. Digha Nikaya

i

. Jyotisha Vedanga

Options :

68634027365. 1
68634027366. 2
68634027367. 3
68634027368. 4

Question Number : 42 Question Id : 6863406917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fad SOifay & R ¥ fG¥Y $u § gui9 33 g Se i Sid &

1. 484
2. Hay gd
3. 2y o
4. SIS A&

Options :

68634027365. 1

68634027366. 2

68634027367. 3
68634027368. 4

Question Number : 43 Question Id : 6863406918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who among the following was a Chauhan ruler to patronize poets and scholars. built many magnificent
temples. including a Sanskyit college at Ajmer and the Anasagar Lake?

1. Prithviraj ITT

2. Jai Chand

[F¥]

. Vigrahraja
4. Prithvira; I

Options :

68634027369. 1
68634027370. 2
68634027371. 3
68634027372. 4

Question Number : 43 Question Id : 6863406918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frfafaa & 9 g 9 TN oF o1 o ofaal aul fagmi of WRem fan, sk & ue Wwd
TEIaelerd duUT HHMEFR S Ud 3! e Hie §-1amd?

1. JERTSI-I1I
2. g

3. faueR

4. YRS

Options :

68634027369. 1
68634027370. 2
68634027371. 3
68634027372. 4

Question Number : 44 Question Id : 6863406919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

What was sondhar?

1. Gateway

J

. Agricultural loans
3. Uncultivable land

4. Punishment

Options :

68634027373. 1
68634027374. 2
68634027375. 3
68634027376. 4

Question Number : 44 Question Id : 6863406919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
TI=R 141 2
IRGEEIN|
Py BU
3. IR GUelss Wi

4. qUs

[ )



Options :

68634027373. 1
68634027374. 2
68634027375. 3
68634027376. 4

Question Number : 45 Question Id : 6863406920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who sent Kashmir shawl as a present to the Chinese emperor?

1. Alauddin Khilji

-

2. Muhammad Tughlaq
3. Firuz Shah Tughlaq

4. Balban

Options :

68634027377. 1
68634027378. 2
68634027379. 3
68634027380. 4

Question Number : 45 Question Id : 6863406920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fopa - 9HIe & HIHR U e He W9y fieamn 2

L it [l

1. 3[@3% 9 Racroll

2. HeHHa qiIic®
3. fopRioT=ITg e

4. dd

Options :

68634027377. 1
68634027378. 2
68634027379. 3
68634027380. 4

Question Number : 46 Question Id : 6863406921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct statements:

A. Balban ascended the throne in 1266.

B. Balban was sold as a slave in Turkistan.
C. Balban was bought by Iltutamish in Delhi.
D. Balban was a Chihalgani Turk.

Choose the most appropriate answer from the options given below:

1. A.B and D only

| B

.B. Cand D only
3.A.Cand D only
4. A, B and C only

Options :

68634027381. 1
68634027382. 2
68634027383. 3
68634027384. 4

Question Number : 46 Question Id : 6863406921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el YT BT T4 DIf:

A. 16 1266 H GRS g3
B. §o/& qiehed™ H U@ aH & &9 1 96T o7 |

C. go8 Pl Sedaiay + fadl § wia|
D. §a U Fgarii=l g oIl

1 fed e [9eed] ¥ waiiue SUgad ST &l 909 i

1. Had A. BAdUID

2. HaA B, C dUTD
3. PAA A, CTUID

4. Had A BAYUIC

Options :

68634027381. 1
68634027382. 2
68634027383. 3
68634027384. 4

Question Number : 47 Question Id : 6863406922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Identity the correct statements:

A, Ajmer was captured in 1191,

B. Ajmer was occupied after defeating Hari Raj.
C. Govind was son of Prithviraj.

D. Hari Raj was brother of Prithvira.

Choose the most appropriate answer from the options given below:
1. B. C and D only
2.A.Band D only
3.A.Cand D only

4. A. B and C only

Options :

68634027385. 1
68634027386. 2
68634027387.3
68634027388. 4

Question Number : 47 Question Id : 6863406922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el HY| BT I8 HIIC:

A. HER WX 1191 H SHfUPR gl
B. BRG] &l g 3foH U i8R fdar mar|

C. a2 QRIS &1 9 4T
D. R3S, QRIS &7 TS o |

= &2 77U fosped! 1 3§ waltus Sugad SOx &1 997 Bi
1.$dd B, C dUTD
2. %dd A, BAUID
3. ®dd A, C IUID

4. BAAA BAYUIC

Options :

68634027385. 1
68634027386. 2
68634027387. 3
68634027388. 4



Question Number : 48 Question Id : 6863406923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The real greatness of the Chola empire started with accession of :

1. Uttama Chola

| S

. Arumolivarman
3. Sundara
4. Arinjaya
Options :
68634027389. 1
68634027390. 2

68634027391. 3
68634027392. 4

Question Number : 48 Question Id : 6863406923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fehieh YA & WY A1 99T &1 dRaio® HeHal 31 TH3M1d 55 2
1. 3aH 9|
. ITHITTaH

3.9
4. R0

Options :

68634027389. 1
68634027390. 2
68634027391. 3
68634027392. 4

[ ]

Question Number : 49 Question Id : 6863406924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who administered the Vijayanagar empire on basis of Kakatiya model.

1. Brahmins
2. Bahmanis
3. Harthara I
4. Rajraj I

Options :

68634027393. 1

68634027394. 2

68634027395. 3
68634027396. 4

Question Number : 49 Question Id : 6863406924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ferg- TaSTTR TTETT BT U=ITE PIHIaa JeY & TR IR Ia 2

1. Slle 0T
2. ETEIfEA
3. BB
4, AT -1

Options :

68634027393. 1

68634027394. 2

68634027395. 3
68634027396. 4

Question Number : 50 Question Id : 6863406925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In Deccan, the Mauryan empire was followed by the rule of:

1. Reddis

J

. Sakas
3. Pallavas

4. Satavahanas

Options :
68634027397. 1



68634027398. 2
68634027399. 3
68634027400. 4

Question Number : 50 Question Id : 6863406925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A A9y & 915, G 1 [ar-eT Isy RIUd gofn 2

1.3

2.9

3. Yerid

4, Hiddlg-
Options :
68634027397. 1
68634027398. 2

68634027399. 3
68634027400. 4

Question Number : 51 Question Id : 6863406926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Bharavi's Kiratarjunivam desecribes the conflict between Siva and Arjuna in:

1. eighteen cantons

2

3 T\'\'eilt}v' cantons

Taa

. s1xty cantons
4. twenty one cantons

Options :

68634027401. 1
68634027402. 2
68634027403. 3
68634027404. 4

Question Number : 51 Question Id : 6863406926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



YRa! & frdel-ian ¥ g qur s & oy $1 o g g -
1.18algl &
2080 H
3.60QBIH
4.21al81 0
Options :
68634027401. 1
68634027402. 2

68634027403. 3
68634027404. 4

| ]

Question Number : 52 Question Id : 6863406927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 18 labelled as Assertion (A) and the other is labelled as Reason (R):
Assertion (A): During Delhi Sultanate the task of transporting food grains from the countryside was generally
carried out by Karwanivas.

Reason (R): It was to fill up the royal stores.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A.

o

2. Both A and R are true but R 15 NOT the correct explanation of A.

. A is true but R s falge.

%]

4. A is false but R 1s true.

Options :

68634027405. 1
68634027406. 2
68634027407. 3
68634027408. 4

Question Number : 52 Question Id : 6863406927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 3 B2 AU 0 & U MUY (Assertion -A) & 0 1 [RIRET © I QR 39d HRUI (Reason- R) &
S

Lut
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PR (R) : TE TSl TG BT Y- P [o7d eiar 1|
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4. AFSI TR AP R TR 6

Options :

68634027405. 1
68634027406. 2
68634027407. 3
68634027408. 4

f—t

-2

Lad

Question Number : 53 Question Id : 6863406928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Arrange the following events in chronological order:

A, Anglo-Sikh wars

B. First Afghan war

C. Introduction to Railways in India
D. Santhal rebellion

E. Annexation of Awadh

Choose the correct answer from the options given below:

1.LAB.CDandE
2.B.A.C.Dand E
3B.C.A,Eand D
4.A. C.D.Band E

Options :

68634027409. 1

68634027410. 2

68634027411. 3
68634027412. 4



Question Number : 53 Question Id : 6863406928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafafed gemsi o SR Ar IR Hafiyd Sife :

A e gg

B. WYY 3BIH g

C. URd H ¥ Pl Y31
D. Tura fasis

E. g4 &7 HEUE

feforfad faeedl 3 ¥ 9gl SR &1 994 I |

LABCDdJUE
2B A CDJYE
3B.CCA.EdQYID

4. A C.D.BJUIE

Options :

68634027409. 1
68634027410. 2
68634027411. 3
68634027412. 4

Question Number : 54 Question Id : 6863406929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following in the correct chronological order:

A. Homer's Ilhiad and Odyssey
B. Suttanipatta

C. The Rig Veda

D. The Brahmanas

E. Indika

Choose the correct answer from the options given below:

1.C.D.A.Eand B

[ ]

DVACE Band C
3.C,A.D.Eand B
4 A C.E.BandD
Options :

68634027413. 1
68634027414. 2



68634027415.3
68634027416. 4

Question Number : 54 Question Id : 6863406929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR D1 YEl PIAHHTHR Tl P :
A, R & siogs ud il
B. gelli-1g
C.3B7dg
D. slTelUf
E. Sfeaml

F=faREd fdeed O 9 98t SR &1 994 Sio |

1.C.D.A.EdYIB
2D.AEBQYUC
3.C.A.D.EQYUIB

4. A C.E.BdYID

Options :

68634027413. 1
68634027414. 2
68634027415. 3
68634027416. 4

Question Number : 55 Question Id : 6863406930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Agricultural conditions in the Gangetic basin were vastly different from those of the Indus
culture.

Statement IT: Canals and dykes were of great significance in Gangetic basin.

In the light of the above statements, choose the correct answer from the options given below.

1. Both Statement I and Statement II are true

2

. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false
4. Statement I is false but Statement IT is true

Options :

68634027417. 1

68634027418. 2
68634027419. 3



68634027420. 4

Question Number : 55 Question Id : 6863406930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 g 2 [au e &

HY 1 T AR H S o [l e waa @1 o &l 3 oo ey 9 e i
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Options :

68634027417. 1
68634027418. 2
68634027419. 3
68634027420. 4

Question Number : 56 Question Id : 6863406931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Brahmadayas and temples were important players in the restructuring of the economy during the
Chola period.

Statement IT: It was result of their administrative and functional control over productivity.

In the light of the above statements, choose the correct answer from the options given below.

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement IT is false.

4. Statement I is false but Statement IT is true.

Options :

68634027421. 1
68634027422. 2
68634027423. 3
68634027424. 4



Question Number : 56 Question Id : 6863406931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 g Py Ry e &

HU 1 10 g1 H sdorawy] $1 I-ReHT § §Eey au iR Heayul aRS 4 |
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Options :

68634027421. 1
68634027422. 2
68634027423. 3
68634027424. 4

Question Number : 57 Question Id : 6863406932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 1T

LISTI LISTII
A |[Rupiva 1. |Gold coin
B. [Dam II. [Silver coin
C. |Asharfi [IT. [Half dam
D. |Adhela IV |Copper coin

Choose the correct answer from the options given below:

1. A-IL. B-1. C-III. D-IV

| )

. A-TL B-IV. C-1. D-III
3. A-IIL, B-IV. C-1. D-IT
4. A-IL, B-IIL, C-IV, D-I

Options :

68634027425. 1
68634027426. 2
68634027427. 3
68634027428. 4



Question Number : 57 Question Id : 6863406932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

el 1 1 gt 1 4 fiaE sl
T 1 T I

A [efan 1. [&aul g

B [gH 1. [Ford Rradr
ol B e 1L |3 &1F

D. [3igan 1V, [d1eT Rad]

A & TR faepedl o 9 Wl SR &l 9g SIfo :

1. A-IL. B-1. C-1II. D-IV

[ B

. A-IL B-IV. C-1. D-III
3. A-IIL, B-IV. C-I, D-I1
4. A-II. B-III. C-IV. D-I

Options :

68634027425. 1
68634027426. 2
68634027427. 3
68634027428. 4

Question Number : 58 Question Id : 6863406933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List TT

LISTI LISTII
A |Abdullah 1. |Tarikh- 1 Firuz Shahi
B. [Badauni II. |Tarikh- 1 Daudi
C. |Barani [I. Pvluntakhab al- Tawarikh|
D. |54z1 IV [Fuwaid al-Fu'ad

Choose the correct answer from the options given below:

1. A-IL. B-II1, C-1. D-IV

[

CA-IL B-1II. C-1II. D-IV
3. A-IIL, B-I1, C-IV. D-1
4. A-II. B-1. C-IIIL, D-IV
Options :

68634027429. 1
68634027430. 2



68634027431. 3
68634027432. 4

Question Number : 58 Question Id : 6863406933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 gt 1 TaE S
T 1 = 11
A |atsgear L [GRRE-U-TRIsETe]
B. [gargH 1. [dRRE-TE&al
C. [@%1 111 [T -3 a1
D. [l IV, [FedlG - Bdla
fafaiad faeedl 4 9 Ogt SR &1 994 B -

1. A-II B-III C-I D-IV

| B

CA-L B-IT C-ITT D-IV
3. A-III B-1I C-IV D-1
4. A-II B-1 C-III D-IV

Options :

68634027429. 1

68634027430. 2

68634027431. 3
68634027432. 4

Question Number : 59 Question Id : 6863406934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Maddad- 1 ma'ash stands for:

1. Inheritance

-2

. Revenue
3. Aid for subsistence
4. Petty burdens

Options :

68634027433. 1
68634027434. 2
68634027435. 3
68634027436. 4

Question Number : 59 Question Id : 6863406934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
HEg-U-A &l HY §
1. STRIYPR

| B

e
3. Sila=a9 & e &M
4. DI Eﬁﬂ {Petty burdens)

Options :

68634027433. 1
68634027434. 2
68634027435. 3
68634027436. 4

Question Number : 60 Question Id : 6863406935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Who is the author of India wins Freedom'?

1. Maulana Azad

| ]

. Jawahar lal Neluu
3. VD. Savarkar
4, V.P. Menon
Options :
68634027437. 1
68634027438. 2

68634027439. 3
68634027440. 4

Question Number : 60 Question Id : 6863406935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TISU [d=0 WisH & TE® B8 2
1. BIaET 3 vile

2. OaTeY 9| 8%

3, dl. S grava
4. dl. 9t 54

Options :



68634027437. 1
68634027438. 2
68634027439. 3
68634027440. 4

Question Number : 61 Question Id : 6863406936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 18 labelled as Assertion (A) and the other 15 labelled as Reason (R):
Assertion (A): Territories held on the same basis as jagir. but not against any rank or without any obligation
were known as Inam.

Reason (R): The revenue of these was reversed for the imperial treasury.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both A and R are correct and R 1s the correct explanation of A.

]

2. Both A and R are correct and R 18 NOT the correct explanation of A.
3. A 1s correct but R 1s not correct.

4. A 1s not correct but R 1s correct.

Options :

68634027441. 1
68634027442. 2
68634027443. 3
68634027444. 4

Question Number : 61 Question Id : 6863406936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 3 B2 AU 0 §: UF 1Y (Assertion- A) & ¥0 1 [ © T G3R1 39 PRUI (Reason -R) &
S

sftrmyT (o) RS suRi R s fedi g o fsm fed oo s o da ua e 43< s9m &
JU I ST S 1|
BRI (R) : T71 IoT¥d WTE! PN & ferd FRiad oIl

SWRIad HUA & Wb H, =i 31U T fawedl § 3§ waffye Suged SR &1 984 Sifou|
1. ATUTR &1 961 ¢ GUTR. A D! T & B

A TYIR GHI Hol 8. dfh R, A D] Ug! R 8] 3

. A1 8 IfeT R HR1 T80 61

4. AFSI TR AP R TR 61

Options :
68634027441. 1
68634027442. 2

-2

Lad



68634027443. 3
68634027444. 4

Question Number : 62 Question Id : 6863406937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After which battle, the pattern of the company's commereial relations with India underwent a qualitative
change?

1. Anglo- Maysor war - I

| ]

. Battle of Buxar

LF¥]

. Battle of Ramgarh
4. Battle of Plassey

Options :

68634027445. 1
68634027446. 2
68634027447. 3
68634027448. 4

Question Number : 62 Question Id : 6863406937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ g & a1g HUHI b HRA & IIY AIGIAS Haell H 19 Ut URad= Simar 2
IR g -1
SRR g%

jany

[ ]

3. IS
4, & BTG

Options :

68634027445. 1
68634027446. 2
68634027447. 3
68634027448. 4

Question Number : 63 Question Id : 6863406938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Religious reforms begun in Bombay in 1840 by:

1. Brahmo Samaj

-2

. Parmahans Mandali

3. Prarthana Sama

e

. Arya Samaj

Options :

68634027449. 1
68634027450. 2
68634027451. 3
68634027452. 4

Question Number : 63 Question Id : 6863406938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1840 @ ¥ H §19% & 1% Uiie YUR [T g

1. Sig] SHIS

[

3. U1 AT

4. T4 AR
Options :
68634027449. 1
68634027450. 2

68634027451. 3
68634027452 4

Question Number : 64 Question Id : 6863406939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which act established limited self government i1 Bengal, Madras and Bombay?
1. Actof 1892
2. Indian Councils Act (1861)
3. Local Self Governiment Act (1882)
4. Ilbert Bill (1883)

Options :
68634027453. 1



68634027454 2
68634027455.3
68634027456. 4

Question Number : 64 Question Id : 6863406939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oy ST = ST, TR a1 9rs O I I WA 6] T 31 2
1. 1892 BT 3T

-

2. Sfe0H H13feg tae. 1861

3. @i d Yo TTg-4c U, 1882
4. Soac fod. 1883

Options :

68634027453. 1
68634027454. 2
68634027455. 3
68634027456. 4

Question Number : 65 Question Id : 6863406940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

All the radical development on the peasant front culminated in the formation of :

1. Utkal Kisan Sangha at Orissa

-2

. Congress Socialist Party at Calcutta
3. Provincial Kisan Sabha at Bombay

4. All India Kisan Sabha at Lucknow

Options :

68634027457. 1
68634027458. 2
68634027459. 3
68634027460. 4

Question Number : 65 Question Id : 6863406940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



[ep Ad TR U ciierTl [aaTaehdl &1 GIRUe $3e] R0 o7 -
1. FSI9I ¥ Ipd fbdr I

o

2. HAHdl § Siog rfere gt
3. §g § Uidig g gy
4. TGS H g HRAT f&am Iy

Options :

68634027457. 1
68634027458. 2
68634027459. 3
68634027460. 4

Question Number : 66 Question Id : 6863406941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are correct:

A. The dry zone of the Central Peninsula was homelands of Hoysalas. Kakatiyas and later Vijayanagar.

B.In 13 century with Hoysalas and Kakatiyas, a more war like age was at hand for peninsular societies.
C. Vijayanagar was a mixed rural economy of peasants. herdsmen. and forest people.

D. The homelands of Hoysalas, Kakatiyas and Vijayanagara was dependent on tank irrigation.

E. High level multi crop production was speciality of Central Peninsula.

Choose the correct answer from the options given below:

I.LA.C.Band E

2

A Dand E
3AB.CandD
4 AB.CDandE

Options :

68634027461. 1
68634027462. 2
68634027463. 3
68634027464. 4

Question Number : 66 Question Id : 6863406941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafag DY S II9E & :

A. B51g UFglY ©f YD &, GG, STl 947 €18 H IS8R 1 64T (homelands) YT
B. U 41 F416 & ferd 1301 Wdredt 3 g1g9al qul Sieliadl & SR IR0l GgHy oT|
C. [AoR 7R SET, TS, 9Tl auT 99 digad) &1 Hid arHioT sefenaw of|

D. BT, FHTPIT1 qUT [AS0TR &1 Je&lH TIela 91 (tank irrigation) TR FHHR 27|

E. 3= Uil SgHiy SIa dw1d Waed S [aeer o

= fad v fogel § U8l 39% &1 984 Sifou|

1LA.C.BOYIE

2.A.DTYUTE

L]

AB,CAUID

4. A B.C.DUYUIE

Options :

68634027461. 1
68634027462 2
68634027463. 3
68634027464. 4

Question Number : 67 Question Id : 6863406942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Dayanand Saraswati authored :

1. Bakhar

]

. Satyartha Prakash

%]

. Rangbhumi
4. Swaraj

Options :

68634027465. 1
68634027466. 2
68634027467. 3
68634027468. 4

Question Number : 67 Question Id : 6863406942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g IRl - forn
1. §E%
2. Fanduery

3. TYH
4. RS

Options :

68634027465. 1
68634027466. 2
68634027467. 3
68634027468. 4

Question Number : 68 Question Id : 6863406943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who started journal 'Kesari' along with Tilak?

1. G.V. Joshi

| ]

. Jyotiba Phule
3. G.G. Agarkar

4, R.C. Dutt

Options :

68634027469. 1
68634027470. 2
68634027471. 3
68634027472. 4

Question Number : 68 Question Id : 6863406943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fererer & A1y fiae SRl AT fea o &t 2
1. Sff, gt St
2. Hifder o
3. Sfl. Sff. 3FR®R

4. ¥R, 9. 89

Options :
68634027469. 1



68634027470. 2
68634027471. 3
68634027472. 4

Question Number : 69 Question Id : 6863406944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are wrong:

A, Puppetry is identified as Kathputli,

B. Puppets are made out of wood and glass.

C. The court puppeteers claimed that their puppets had Life.

D. The art of Puppetry originated in Rajasthan.

E. In Marionette tradition. the puppets are manipulated by strings and wood.

Choose the correct answer from the options given below:

1.B.Cand E

| B

A BandE
33ABandC
4 B.Dand E

Options :

68634027473. 1
68634027474. 2
68634027475. 3
68634027476. 4

Question Number : 69 Question Id : 6863406944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e o 9 & H 8 Y T § -

A. UUTH Pl HaYaa! & 9  FHI O ¢

B. PaYqd| &l ad ol aul YUK & 9 A g |

C. SXERI ayddiiars ardl eid U fb 3l doydieral duilg df|

D. TeYdd! Hal &1 IB3HTd eI & T3

E. TRI3{I€ (Marionette) TRERT H SaUdad| P 4T qUl d@e! § ITed (a1 Aar g |

f=fafad ool § O adt SR &1 99 Sife|

1.B.CdUlE

2.A.BTUYIE

Lad

CABAYIC

4. B.DAYUIE

Options :

68634027473. 1
68634027474. 2
68634027475. 3
68634027476. 4

Question Number : 70 Question Id : 6863406945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Given are the two statements:

Statement I: After death of Burhan Nizam Shah of Ahmednagar. Chand Bibi formed the third faction.
Statement II: Chand Bibi was contemporary of Shahjahan.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct.

| )

. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but Statement IT 1s incorrect.

4. Statement I is incorrect but Statement IT is correct.

Options :

68634027477. 1
68634027478. 2
68634027479. 3
68634027480. 4

Question Number : 70 Question Id : 6863406945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A ar sy fler T &
Y1 : HEHGTR P GIEH o0 W16 B g & 915 =ig diai = TRl e S|

BYF 1 : T silsll LMeoTe] Bl FHDIC Ui
SIRIad B & YT A 19 ST T fdded] & § Taifie Suyad SR &1 997 11U |

1. Y 1 dYUT HYF 11 a1 981 T

[

HYT 1 YT HYF 11 SH Td

YA 1 HE! € U PY I TTed & |

Lad

.Y 1716 © IR Y 11 Hel ©

e

Options :

68634027477. 1
68634027478. 2
68634027479. 3
68634027480. 4

Question Number : 71 Question Id : 6863406946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the correct statements:

A. In 1605, Sikhs were not living in many cities of the Mughal Empire.

B. Accredited Representatives were known as Masands.

C. Masands brought their offerings to Ramdaspur at least once a year.

D. Only members of trading communities of merchants were included amongst of the Sikhs.
E. Angad was nominated as Guru in the lifetime of Guru Nanak.

Choose the correct answer from the options given below:

1.A.B and E only

| o]

.C.Eand D only
3.B.D and E only
4. B. C and E only

Options :

68634027481. 1
68634027482. 2
68634027483. 3
68634027484. 4

Question Number : 71 Question Id : 6863406946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

el T BT UgTH DI

A. 1605 T g, T7Te 9HTo9 & 95d 91 W63l § ol %6 <6 U

B. YA (Accredited) U8 B9-¢ Hgdrd Ul

C. HHE UIe § & U &8 U dR IHGHYR H He dd 3i1d 4|

D. Padl UIRA! o syl 91 il 4 it fod 7 4

E. % S & Wilg- ®Id H T 37E &I T & 39 H i foar 7|

fefafad foedl § O |t S &1 99 Sifeu|

1. A. BOYUTE Had

| )

.C.EQYI D %ad

.B.D dYUTE ®ad

Lad

4.B. C dYTE ad

Options :

68634027481. 1
68634027482. 2
68634027483. 3
68634027484. 4

Question Number : 72 Question Id : 6863406947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who was the first Indian to be elected to the leadership of the Communist International?

1. 5.A Dange

J

. M.N. Roy
3. Subhash Chandra Bose
4. Lala Lajpat Rai

Options :

68634027485. 1
68634027486. 2
68634027487. 3
68634027488. 4

Question Number : 72 Question Id : 6863406947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



feo g TuH YR &1 SR SR & Add & g T 2
1.TH. T 37
2. UH. T30
3. GUITE5 d1F

4. Il ersiyd 1Y

Options :

68634027485. 1
68634027486. 2
68634027487. 3
68634027488. 4

Question Number : 73 Question Id : 6863406948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who started the Ryotwari experiment in Bara Mahal?

1. Lord Wellesley

| S]

. Thomas Muntro
3. Lord Cornwallis
4. Alexander Reed

Options :

68634027489. 1

68634027490. 2

68634027491. 3
68634027492. 4

Question Number : 73 Question Id : 6863406948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IRITEd I Wdars! A &1 Yesild e 31 2
1. €S deiedl
ATIE gRI
3. 9IS BI-aned
IR N ERTRIE]

Options :
68634027489. 1

| ]



68634027490. 2
68634027491. 3
68634027492. 4

Question Number : 74 Question Id : 6863406949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When was Women's Indian Association started?

1. 1925

| S

1927
3.1017

4. 1910

Options :

68634027493. 1
68634027494. 2
68634027495. 3
68634027496. 4

Question Number : 74 Question Id : 6863406949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 51597 UHIRIUR &1 L3341 &6 55 2

1.1925

|

: 1927
3. 1917

4.1910

Options :

68634027493. 1
68634027494. 2
68634027495. 3
68634027496. 4

Question Number : 75 Question Id : 6863406950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who formed All India Depressed Classes Congress?

1. Dr. B.R. Ambedkar

| S]

. M.C. Rajah
3. E.V. Ramasvwami Naicker

4. Mahatma Gandhi

Options :

68634027497. 1
68634027498. 2
68634027499. 3
68634027500. 4

Question Number : 75 Question Id : 6863406950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS SFSTT FSTEs TS SiUE 3 W g & 2

1. 81 ol 3R, TSP
2. TH. 1 I7eT
3. T, Ot THEEE AHR
4. HETT el

Options :

68634027497. 1

68634027498. 2

68634027499. 3
68634027500. 4

Question Number : 76 Question Id : 6863406951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 18 labelled as Assertion (A) and the other 1s labelled as Reason (R):
Assertion (A): Telugu didactic poem. Amuktamalyada was composed by Krishnadevraya.
Reason (R): It was composed to attribute importance to the foreign trade.
In the light of the above statements. choose the most appropriate answer from the options given below.
1. Both A and R are correct and R 1s the correct explanation of A.
2. Both A and R are correct and R is NOT the correct explanation of A,

3. A 1=z correct but R 15 not correct.

4. A 1s not correct but R 1s correct.



Options :

68634027501. 1
68634027502. 2
68634027503. 3
68634027504. 4

Question Number : 76 Question Id : 6863406951 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- g P 13U U & UD SHHUT (Assertion -A) P U T R4 § f §IRT 3Ud HRUI (Reason- R) &
oY H:

HTUBY (A) : T SUCRTED Bl SHFTHIIE] B d- FUGARY F Bl |

PR (R) : SUS] I9-1 [dSX AR F1 Jed o3+ & o & 15 |

SURIad ] o YT 4. 1= (56U U fasedl & 4 walfire Iuged S &1 994 11U
1. ATYT R SM1 961 § QYT R, A D! T&| AR &

 ATYTR &FI 961 8. Wi R, A BT el oare 7 ¢

A 9gl g dfch R WS el o

ATEI el & UHT R T &

Options :

68634027501. 1
68634027502. 2
68634027503. 3
68634027504. 4

[ )

[F¥]

e

Question Number : 77 Question Id : 6863406952 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion (A) and the other is labelled as Reason (R):
Assertion (A): The Indian Arimy was carefully reorganised after 1858 to prevent the recurrence of another
revolt.

Reason (R): It was to minimise the capacity of Indian soldiers to revolt.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are correct and R 1s the correct explanation of A.

| §)

. Both A and R are correct and but R 15 NOT the correct explanation of A.

. A 1z correct but R 1s not correct.

%]

4. A is not correct but R is correct.

Options :
68634027505. 1



68634027506. 2
68634027507. 3
68634027508. 4

Question Number : 77 Question Id : 6863406952 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=g &l P ﬁ‘[{ Tﬂ:{%’ U SbieAIE] (Assertion -A) & =0 ¥ farad % ar qHAl IYH HRU (Reason -R) El
IO

SHTUTYT (A) : 1858 T YR 1 H1 QaUHIYdd A& (a1 T/ difds &=7 [l fagig &1 gl 9 Al
o 4 |

BRI (R) : T8 YR A1 S [958 B3 1 &1d &1 gAad B & (od g 14|
SWRIFd B! & Tbr 8. A g 7 fawedi § 9 walfie sugea 3wk @ 997 S
 ATYUTR SHI 961 8 GUTR, A S &I AR5 |

. ATYTR &H1 98] €. i R, A BT el oare 78 ¢

A ¥El g dfhT R 9S8l o

4. A S 81 € A R W1 B

Options :

68634027505. 1
68634027506. 2
68634027507. 3
68634027508. 4

—

[ )

[F¥]

Question Number : 78 Question Id : 6863406953 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 18 labelled as Assertion (A) and the other is labelled as Reason (R) :
Assertion (A): The Theosophical Society advocated revival of ancient religions.

Reason (R): Because Madam H.P. Blavatsky came to India.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A.

| B

. Both A and R are true but R is NOT the correct explanation of A.
3. A1z true but R 15 false.

4. A 1s false but R 1s true.

Options :

68634027509. 1
68634027510. 2
68634027511. 3



68634027512. 4

Question Number : 78 Question Id : 6863406953 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

1 2 2 (ST T & U 3132 (Assertion -A) & =0 I [cTR4d T Al IR 39S BRUI (Reason R) P
IUH:

HTUFUT (A) : RS ea S 7 UEE 99] & g9 ©f abiad 3 |
BRI (R) : TP Tod T4, 1. se@esd] URd 315 ot |
SWRIdd Byl & U 4, Hid 3u 1y fapedl § ¥ F6l 3R &1 9g Iy |
1. ATYT R 1 961 § GUTR, A D! Jg! ARAT B |
2. AT R GH1 981 €. AT R, A 31 Tt soran 71§
3. A¥E 8 dfdT R WS AL B
4. A S 81 € Wb R WeI B

Options :

68634027509. 1
68634027510. 2
68634027511. 3
68634027512. 4

Question Number : 79 Question Id : 6863406954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Subhash Chandra Bose met Goebbels and Hitler in Berlin.

Statement II: Indians. captured in North Africa, were handed over to him to start Indian Legion.
In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement II are true.

| )

. Both Statement I and Statement IT are false.
3. Statement I is true but Statement IT is false.

4. Statement I is false but Statement IT is true.

Options :

68634027513. 1
68634027514. 2
68634027515.3
68634027516. 4



Question Number : 79 Question Id : 6863406954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 g Py Ry e &

HYF L : Y 95 919 afei § Tged aul fgeer 9§ i |

FYF 1 : T 3B1oT § IRTER YR 37 T YR 1Y dier & & fordl g1 fagd |
SURIad PYH! & Ybr I -4 f4U 70 fdded! & 9 9t 3R &1 904 $ifou)

. PYT I YT HYT I S Iel 5

[ )

HYF Y PYA I S Tad e

[F¥]

YT 1 Gl ¢ U] HYA [17Tad & |

e

Y 17T § IR PU 11 He1 B

Options :

68634027513. 1
68634027514. 2
68634027515.3
68634027516. 4

Question Number : 80 Question Id : 6863406955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the correct statement:

A. The East India Company was founded by a Royal Charter in 1600.

B. It was not given monopoly of all trade.

C. The company formally started trading in India after setting scores with the Portuguese.
D. It was a joint stock company of London merchants.

Choose the most appropriate answer from the options given below:

1. A.B and D only

| B

.B. Cand D only
3.A.Cand D only
4. A, B and C only

Options :

68634027517. 1
68634027518. 2
68634027519. 3
68634027520. 4



Question Number : 80 Question Id : 6863406955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el Ul B Iga SIS

A 5% SIS0 SO ®F R 1600 5. T UFH WTRT I gRI Bl T
B. 54 R IR &1 UHIUSHR el a1 Tl
C. BT A YRA & S9=IRe 30§ STUR & L2 3i1d Yoo 3 fGHd sRieR S & 915 @i |

.-

D. U8 @a- & gl &1 Siide wid S ol
- fad 12 fasped] § 9 Haiiie Sugead SR &1 997 S :

1. Pad A. BdUI D

2. Pad B, C dUTD
3. A A, CTUID

4. Had A BAYUIC

Options :

68634027517. 1
68634027518. 2
68634027519. 3
68634027520. 4

Question Number : 81 Question Id : 6863406956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements:

A. The First Indian Factory Act was passed in 1881.

B. It dealt primarily with the problem of child labour.

C. It didn't specify the work hours for children.

D. It provided for proper fencing off- of dangerous machinery.
E. It provided weekly holiday for all workers.

Choose the correct answer from the options given below:

1. A.B and D only

| B

.A. D and E only
3.A.Cand E only
4. A. B and C only

Options :

68634027521. 1

68634027522. 2
68634027523. 3



68634027524. 4

Question Number : 81 Question Id : 6863406956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

el T BT UgTH DI

A. T YA Hhaedl Tae, 1881 H IR gl

B. U8 G®A: SIIYH &1 901 U 1 gl Ul

C. 38 g=di o fo7d 19 & Uc [iga =gl [ |

D. 591 @AT® HYHI & 9R] ORW aIsag] &) dae] Bl |
E. 385 g4l 4151 & g Araife® Saora $f il &l |

= fog v fo el ¥ Hel SR &1 999 SIfuU|

1. Pad A. BAUID

2. PAdA. DAYUTE
3. A A, CTYUTE

4. HAAA BAYUIC

Options :

68634027521. 1
68634027522. 2
68634027523. 3
68634027524. 4

Question Number : 82 Question Id : 6863406957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 1T

LISTI LISTII
A Pagir 1. |a police office
B. [Diwan II. [Highest civilian office in Kingdom
C. [Deshpande II1. |a grant for the maintenance of troopy
D. [Faraskhana IV [records keeper for a pargana

Choose the correct answer from the options given below:

1. A-IIL. B-IV. C-I. D-II

| )

A-T, B-II. C-IV. D-III
3. A-IL B-I11, C-IV. D-1
4. A-IIL. B-II. C-IV. D-I

Options :



68634027525. 1
68634027526. 2
68634027527. 3
68634027528. 4

Question Number : 82 Question Id : 6863406957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 gt 1 TaE S
a1 e 11
A [GFTR 1. [0 gfcry draiay
B. [ala 11 [7158 ® Tl G iUsR
C. [czmais 1L [441 o 3R o [l e
D [mgEEr | 1V [us 0E1 & o oaraial Wa- ard]

fofefad faeel & O 98t 3w & 994 i .

1. A-IIT B-IV C-I D-II

-

2.A-1 B-II C-IV D-III
3. A-II B-III C-IV D-I
4. A-III B-II C-IV D-I

Options :

68634027525 1
68634027526. 2
68634027527. 3
68634027528. 4

Question Number : 83 Question Id : 6863406958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Match List I with List 1T

LISTI LISTII
Santhal 1. |Andhra
Chenchu tribe | II. Manipur
Thadoe Kukis | [II. Mayvurbhang
Bhils IV |Banswara

ofofw[=

Choose the correct answer from the options given below:

1. A-IL. B-1. C-III. D-IV

| )

A-IIL B-I, C-IL. D-IV
3. A-III, B-11, C-1, D-IV
4. A-IL, B-1IL, C-1. D-IV

Options :

68634027529. 1
68634027530. 2
68634027531. 3
68634027532. 4

Question Number : 83 Question Id : 6863406958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 1 %1 et 1 3 TaE ifn
A 1 T
A [y R ]
B [dg®aar | ol
c prsiosr | [pavy
D [d& 1V [§15ars]
frafafad faeed ¥ 3 T8 SR &1 997 Fifoe -

1. A-II B-I C-III D-IV

| B

CA-IIT B-I C-II D-IV
3 A-II B-II C-I DIV
4. A-II B-IIT C-I D-IV

Options :

68634027529. 1
68634027530. 2
68634027531.3
68634027532. 4



Question Number : 84 Question Id : 6863406959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List TT

LIST1I LISTII
Marshall excavated Mohenjodaro | I |1833
Dr. Sahani's excavation at Harappa| 11 [1951
Vats excavated Harappa I 11921

o ofw[

Cunningham finds a Harappan seal|] IV. ]1940

Choose the correct answer from the options given below:

1. A-IL. B-1. C-III. D-IV

[

AL B-IV. C-I1. D-1
3. A-IL, B-I1I, C-IV. D-1
4. A-IV. B-ITI. C-I, D-I1

Options :

68634027533. 1
68634027534. 2
68634027535. 3
68634027536. 4

Question Number : 84 Question Id : 6863406959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

gt 1 51 et 1 3§ faH Sifen

T T T I
A [HTEE 3 Aigadics! &l 3cd i) 1 [1853
B. [SI.3R. Tig-! &1 g8l 3o 1L [1931
C. [39 - §SW &I Iod-+ [l 11 [1921
D [@ g & uw gawr ga e v [1940
= 50 U foped! & WEl SR &1 9uA S

1. A-II B-I C-III D-IV

| B

CA-TIT B-IV C-IT D-1
3 A-II B-ITI C-IV D-I
4. A-IV B-III C-I D-II

Options :

68634027533. 1

68634027534. 2
68634027535. 3



68634027536. 4

Question Number : 85 Question Id : 6863406960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Arrange the following in chronological order.
A. Visit of Chinese pilgrim Fa-hien.
B. Guptas gained power.
C. End of the Kushan power in north India.

D. End of Skandagupta's reign.
E. Hunas occupied eastern Malwa.

Choose the correct answer from the options given below:

1.C.B.D.Aand E

[ ]

.C.B.A.DandE
3AB.D.CandE
4. EA B CandD

Options :

68634027537. 1
68634027538. 2
68634027539. 3
68634027540. 4

Question Number : 85 Question Id : 6863406960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FrfREd &1 SR HrER SHafRid S :

A. T gt TR BT SHH |

B. T QEe! = G UId i |

C. TR YR H 0T e ®f ganw|
D. TH &I & UM &7 3id |

E. §UII gR1 gdf Hrefal iR SiiiaR |

fAefafed el & O Ot SO &1 99 Siforg|

1.C.B.D.AdYIE

| )

.C.B,A.DTYUIE
3.A.B.D.COUIE
4.E.A B.CAu D

Options :



68634027537. 1
68634027538. 2
68634027539. 3
68634027540. 4

Question Number : 86 Question Id : 6863406961 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Asrange the following in chronological order:

A. Babur's memoirs translated into Persian as Babur Nama.

B. Abul Fazl works on the Akbar Nama.

C. Lahori composes the first two daftars of the Badshah Nama.
D. Gulbadan Begum begins to write Humavun Nama.

E. Jahangir writes his memoir. Jahangir Nama.

Choose the correct answer from the options given below:

1.DAB.EandC

[ )

AD,B,Eand C
3.JADE Band C
4. EA B DandC

Options :

68634027541. 1
68634027542. 2
68634027543. 3
68634027544. 4

Question Number : 86 Question Id : 6863406961 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[=IeRET 1 PIIPHFER U HIfe:

A. 'SIERATHT & Y H §laY & IR0 &1 BRUTH a5

B. 3gd Boid & 'SHEATET TR HIY ATl

C. TERI - ‘STERME-THT & U8 &l THR (Daftars) B T B |
D. @S ST §RI 'THIEAMT & W@ Sl T3]

E. SgiT R gRI Y Y01 SERTRAMET &l dg- |

faAfeiad el ¥ O 98l SO &1 904 $ifoig -

1.D.AAB.EdYIC

[ B

JA.D.B.ETYUIC
3.A.D.E.BTYUIC
4. E A BDAYUC

Options :

68634027541. 1
68634027542. 2
68634027543. 3
68634027544. 4

Question Number : 87 Question Id : 6863406962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following in chronological order:

A. The Portuguese gave the 1sland of Bombay to King Charles as dowry.

B. The war in India begun between Portuguese and British.

C. Portuguese lost all their possession in India except Goa. D and Daman.
D. Thomas Roe reached the Mughal court.

E. English gave up all claims of Indonesia.

Choose the correct answer from the options given below:
1.LAD.CBand E
2.D.A.C.Band E
3.D.C.B.Eand A

4 B.C.D.AandE

Options :

68634027545. 1
68634027546. 2
68634027547. 3
68634027548. 4



Question Number : 87 Question Id : 6863406962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T &1 SIIP I aR Uafid Sifo -
A. Rt 3 b7 o ot e gl gew | faar

B. YRd & ganierd! quT SIS & O 4G & U3M1d |

C. TTIaT, Sid YT g0 o Sierar garnierdl 4 yRa I a9 wui &= @l &g |
D. YIHY 3 {77 GIER ug |

E. 305 94 SS MR IR 9K g B1S 4|

feferfad faeedl 5 ¥ 98! SR &1 909 ST |

LA D CBdUE

| )

.D.A.C.BdYIE

[¥%]

.D.C.B.EdUlA

4. B.C.D.AdYIE

Options :

68634027545. 1
68634027546. 2
68634027547. 3
68634027548. 4

Question Number : 88 Question Id : 6863406963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Chanakya's machination of Chandragupta's enemies is described in:

1. Arthashastra

| ]

. Indika
3. Nitisara
4. Mudrarakshasa

Options :

68634027549. 1
68634027550. 2
68634027551. 3
68634027552. 4

Question Number : 88 Question Id : 6863406963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ANV Bt T3 P GRAA! B GHTE TR (machination) BT Aifd frg & aftfa € 2
1. SR

S5

3. FifdaR

[

4. HalRI&H
Options :
68634027549. 1
68634027550. 2

68634027551. 3
68634027552 4

Question Number : 89 Question Id : 6863406964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Gupta age i known for literary contributions. Who compiled Amarakosha?
1. Amarasinha
2. Kalidas

3. Tulsidas

4. Shudraka

Options :

68634027553. 1
68634027554. 2
68634027555.3
68634027556. 4

Question Number : 89 Question Id : 6863406964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

T T HIGI® ANTEH o ol WS § | SRS Bl 3541 [ 31 2
1. 3R

2. BIeHard

3. geriler™

4 P

Options :

o



68634027553. 1
68634027554. 2
68634027555. 3
68634027556. 4

Question Number : 90 Question Id : 6863406965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In Rig Veda, cattle were considered to be symbol of wealth and a wealthy person was called:

1. Gopa

J

. Gomat
3. Duhitr

4. Govala

Options :

68634027557 1
68634027558. 2
68634027559. 3
68634027560. 4

Question Number : 90 Question Id : 6863406965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bide 1 Harkml &1 el &1 THIS T ST 41 931 U6 SRl oafed &1 Hel ol o -

4, e

Options :

68634027557. 1
68634027558. 2
68634027559. 3
68634027560. 4

Question Number : 91 Question Id : 6863406966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Indians were first to use the decimal system. The Chinese learnt this from:

1. Aryabhata

| S]

. Arabs
3. Buddhist missionaries

4, Western world

Options :

68634027561. 1
68634027562. 2
68634027563. 3
68634027564. 4

Question Number : 91 Question Id : 6863406966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST WU 1 a9 U Wi HRdE! A a1 | =il - 58 79 dia
1. 3HE
2. 3RE
3. dig g
4. OfgH ST

Options :

68634027561. 1
68634027562. 2
68634027563. 3
68634027564. 4

Question Number : 92 Question Id : 6863406967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who wrote a glaring account of the military exploits of Samudragupta?
1. Harishena
2. Meghavarman
3. Kalidas
4. Yashodharman
Options :

68634027565. 1
68634027566. 2



68634027567. 3
68634027568. 4

Question Number : 92 Question Id : 6863406967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS 1 9 faoral @1 IR auiH faem a2

4. gYET

Options :

68634027565. 1
68634027566. 2
68634027567. 3
68634027568. 4

Question Number : 93 Question Id : 6863406968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Mimamsa literally measns:

1. discussion of material elements.
2. the art of reasoning and interpretation.
3. means of attamning salvation.
4. devotion and salvation.

Options :

68634027569. 1

68634027570. 2

68634027571. 3
68634027572. 4

Question Number : 93 Question Id : 6863406968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ty T s e &
1. Hifde uaril ot s
2. T U1 TRSAT (interpretation) TR @ Bl
3. gfdd wife &1 H1ead
4. HfeRT YT gfe

)

Options :

68634027569. 1
68634027570. 2
68634027571. 3
68634027572. 4

Question Number : 94 Question Id : 6863406969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Babur succeeded to the kingdom of Samarkand but he was driven out by?

1. Afghans

-2

. Khiljis
3. Uzbeks
4, Mongols

Options :

68634027573. 1
68634027574. 2
68634027575. 3
68634027576. 4

Question Number : 94 Question Id : 6863406969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR YRS S W SHUDR B3 H ha 161 U= 34 981 9 fog- wman »
1. 3T
2. et
3. Josd
4, HAIAT

Options :



68634027573. 1
68634027574. 2
68634027575. 3
68634027576. 4

Question Number : 95 Question Id : 6863406970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Madhoji Scindia died in 1794 and was succeeded by:

1. Daulat Rao

2

. Sada Shiv Rao
3. Nana Fadnavis
4. Raghunath Rao

Options :

68634027577. 1
68634027578. 2
68634027579. 3
68634027580. 4

Question Number : 95 Question Id : 6863406970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hreiisil e @1 1794 T G 51 775, aul 39T SaRli€eR] ol -
1. Greid I

2. 129 T4

3. FT Heard

)

4. TYAY TG

Options :

68634027577. 1
68634027578. 2
68634027579. 3
68634027580. 4

Question Number : 96 Question Id : 6863406971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who is the author of Bustan?
1. Rumi

2. Somadeva
3. Saadi

4. Hemachandra

Options :

68634027581. 1
68634027582. 2
68634027583. 3
68634027584. 4

Question Number : 96 Question Id : 6863406971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I @1 G D g ?
1. BHl
EEG)
3. gret
4. 8HE=
Options :
68634027581, 1
68634027582. 2

68634027583. 3
68634027584. 4

[ ]

Question Number : 97 Question Id : 6863406972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Jing- 1 Kamil literally means :
1. Autummn crop
2. Perfect crop
3. Spring crop
4. New crop

Options :
68634027585. 1



68634027586. 2
68634027587. 3
68634027588. 4

Question Number : 97 Question Id : 6863406972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=g uiftre o1 Urfsse 3 &

1. IRC & B
2. 30H BEd
3. 99d g
4. 7S BET

Options :

68634027585. 1

68634027586. 2

68634027587. 3
68634027588. 4

Question Number : 98 Question Id : 6863406973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
The center of manuseript production in Mughal India was known as :

1. Filkhana
2. Shuturkhana
3. Farashkhana
4. Kitabkhana

Options :

68634027589. 1

68634027590. 2

68634027591. 3
68634027592. 4

Question Number : 98 Question Id : 6863406973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



TR HRe H Uit &1 & &5 &1 59 =14 § ST ST 4T:
1. Bid @M1

2. JE G
3. PR EHT
4. foare@mT

Options :

68634027589. 1
68634027590. 2
68634027591. 3
68634027592. 4

Question Number : 99 Question Id : 6863406974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who among the following was a female devotee of Shiva?

1. Mira

| S

. Andal
3. Karaikkal Ammaiyar
4. Marichs

Options :

68634027593. 1

68634027594. 2

68634027595. 3
68634027596. 4

Question Number : 99 Question Id : 6863406974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafafad 0 8 oF ue w6l Raviea dt 2
1. HRT
2. 3fd
 FREFDIT HHRER
4, HIRE

Options :
68634027593. 1

L]



68634027594. 2
68634027595. 3
68634027596. 4

Question Number : 100 Question Id : 6863406975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are correct:

A. Devendranath Tagore carried forward the tradition of Raja Ram Mohan Roy.
B. Brahmo Samaj did not made efforts to reform Hindu religion.

C. Paramhans Mandali begun reforms in Bombay.

D. Swami Vivekananda popularized Vedanta as fully rational.

E. Ramkrishan Paramhamsa was diseiple of Swami Vivekananda.

Choose the correct answer from the options given below:

1. A.B and C only

| B

A, B and D only
3.A.Cand D only
4. A.C and E only

Options :

68634027597. 1
68634027598. 2
68634027599. 3
68634027600. 4

Question Number : 100 Question Id : 6863406975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FefEad 9o A YT Hel 8 :

A, SaSATY TR IS THHIET T S ORERT S §es |

B. 5181 9T A {5 o7 I gUR & Ug 51 (64|

C. IRHEY HUSddl - ags § R Y3 64|

D. Wl fdasr-g 4 daid &1 guid: difes & &4 H 4Rkt fan
E. IHP W GRAEYH WrHl faderig & R 4|

TRy e § ¥ gt SR B1 I e |

1. PAA. BAUIC

2. Had A, BAYUTD
3. HAAA. CAYT D

4. A A, CAYUTE

Options :

68634027597. 1
68634027598. 2
68634027599. 3
68634027600. 4



